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C Laplace equation solver via SOR method
CCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCe

10

30

300

999

implicit real*8 (a-h,o-z)

parameter (N=20,1m=1000,w=1.0d0,eps=1.0d4-10)
real*8 u(0:N,0:N)

pi=4.0*datan(1.0d0)
h=1.0d0/dble(n)

do 10 i=0,n
do 1 j=0,n
u(i,j)=0.0d0
continue

continue

do 2 i=1,n-1
u(i,0)=dsin(pi*dble(i)/dble(n))

continue

do 300 1=1,1lm
sum=0.d0
error=0.d0
do 30 i=1,n-1
do 3 j=1,n-1
nuu=(u(i+l, j)+uli-1, P +u(i,j+1)+uld, j-1))*w/4.40+(1.d0-w) *u(d, j)
uuu=dum*w/4.0+(1.0-w)*u(i,j)
sum=sum+dabs (uuu)
error=error+dabs (uuu-u(i,j))
u(i,j)=uuu
continue

continue

if (error.lt.eps*sum) goto 999
continue
do 400 i=0,n

write(6,500) (dble(i)*h,dble(j)*h,u(i,j),j=0,n)
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write(6,600)

400 continue
500 FORMAT (5x,3f10.4)
600 format ()

end
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Laplace equation solver via SOR method

goooooo

gcc talaplace.c -1m

K ok 3k 3k ok ok ok ok 3k ok sk 3 ok ok 3k ok 3 ok ok 3 ok ok 3 ok 3k 3k ok ok ok ok 3 ok sk 3 ok ok 3 ok 3k sk ok 3 ok ok 3 ok ok 3 ok ok ok ok ok ok ok ok /
#include <stdio.h>
#include <math.h>

#define N 20
#define LM 1000
#define W 1.0
#define EPS 1.0e-10

main()

{

int i, j, 1;
double pi, h, sum, error, dum, uuu;
double U[N+1] [N+1];

pi = 4.0 * atan(1.0);
h=1.0/ (double)N;

for(i = 0; i <= N; i++){
for(j = 0; j <= N; j+H{
U[i1[j] = 0.0;
}

for(i =1; i <= N - 1; i+H){
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U[i]1[0] = sin(pi * (double)i / (double)N);

}
for(l = 1; 1 <= LM; 1++){
sum = 0.0;
error = 0.0;
for(i =1; i <= N - 1; i+H){
for(j = 1; j <= N - 1; j++){
dum = U[i+1]1[j] + U[i-11[j] + U[il[j+1] + U[il[j-1];
uuu = dum * W / 4.0 + (1.0 - W) * U[i][j];

sum += fabs(uuu);
error += fabs(uuu - U[i][j1);
U[i] [j] = uuu;
}
¥

if (error < EPS * sum) break;

for(i = 0; i <= N; i++){
for(j = 0; j <= N; j++){
printf ("\t%10.4£\t%10.4£\t%10.4f\n",
(double)i * h, (double)j * h, U[i1[j1);
}
printf ("\n");
}
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"laplace.dat"

U1 g0oopoogoo

118



